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(1) f: X > Y ET 5, [ 258E 28, REHTH2 EIEI VI o Eb, 2NZTHEME T,

(2) X =1{1,2,3}, Y ={4,5,6} £T5LZE, X 25 Y "DEH{REZTXTRD L, 2D LIHEHT
HBLD, BRHTHLHD, BHETH 2 HDIFEND,



(3) (ZHUIKRMED L) ROKEE fi2onT, BRI THZ0 8 ) DR X (& TH I L
I B TH L0 E )0, ZNETNHHZ DT TER LK), 2EFNTRVLEA, EEEH X(CR)
R Y (CR) ZEM4ITNSI ST, g: X =Y, g(z) = f(x) (v € X) TEZE 58 g &
B TH L) I &, 72K L X 3% 2 K HORELKXBZESZ &, EH @) ThOGE
bH BN, —OEAITE G, (BOED: sifhe = —— coshe = — ¢ )

(a) f: R =R, f(zr) =cosz (x € R) (b) f: R =R, f(x) =sinhz (r € R) (c¢) f: R = R,
f(z) = coshz (z € R)




